F12E VU HHEERIEA S

XFOH BEIEL—KR

iR Sf6E12H21H8

T

11X 2 X IX 4 X

BRIRIRRL, /N— F—L%& RO 1km A 2km BAIE  3km  ASIEHM  4km
A—k XMEIFESE 1.0km: [XFEIFEEE (1.0km: XASEEEE : 1.0km: XREIEEEE | 1.0km

—EFEPREHS | EFKA B EE B xR AP E=E ® Bk
1 4L 9 | HHE-M. E K. BEBE/ERE 35 25F LT T TaTE L1 134108 L1 T T84 5% |1
M=2=2Jww ! X/ IERL| [ 352581 [ 1 4] [ 45032801 [ 1 4] [ 5572 13%0] ([ 2 fiz] [ 5531581 i[ 2 {iz]

N EREEEEE EFKA A B =% IMEB IBH 4 At EHF
2 {3 1 %iﬁ-jtgt"w;x BEEER/IERL|  4004F) 2461 | 956FD | 241 | 15938F 2 fu | 195044F) 2 fu
XERsE/ B [ 45480 ([ 2 4] [55352%0] [2 6] [ 5530 1280] [ 1 ] [ 4573680 [ 1 fir]]




F12EUHMEEERIE RS —EDE BEIERL— BME R S F16E12821 0
+> T X 2 X 31X 4 X |
RIEIRGL] /A— F—L% WEIREE  1km: ESEEE  2km S (3km RESIEEE | 4km
h—Fk XEIEERE 1.0km: XMEFEEE 1.0km: XMEIEEEE | 1.0km: XREIEEEE | 1.0km
EFKA Bi EF ¥4 Ki ik K& KHF EH
1 {3 4 NLyb-3)L 24 @EER/IER| 495480  2fr 0 990F | 241 0 149017F | 241 0 17958F | 1 i
XRAEER/IERL| [ 4554501 ([ 2 652] [ 456F] [1 60 [52178] [ 2 6] [ 3941801 [ 1 fi1]
N BERA AH EF 5 = =R BT ZHE B
2 {1 3 e BB/ IERL| 3570417 1 4L 0 8959F) | 1 4L 0 13439 | 1 6L 189 11F | 2 4%
X R IE S| [3504180] [ 1 4] [ 55 18%0] ([ 2 7] [ 45240701 ([ 1 {i7] [ 4533281 [ 2 fur]]




